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There are seven floors a A, B, C, D,
E, F and G (not in same order) in a
building. H is below A. C is not at
the bottom. Only one floor below H.
G is b/w E and B. D is three floor
below B.

Which floor is at the top?
Which floor b/w B and H

U% ARG ¥ 9 #HfSe A,B,C,D,E,F
IRGE (- 9 H 78| H, A ® 9
2] C 999 -Id 98] 2| H & g ddd
TP Hold 81 G, E3R B & 9 ¥ 2|
D, B ¥ 9 dfTer i 2|

1) o 9 w55t Ga9 SWR 287
2) B 3R 9= P9 A\ 87
(a) G, A (b) C, E

(1T, A (d) G, A



Venn Diagram
Metal, Titanium, Lithium,

N-M
@ @ @ Phosphorus
SR Dle ©. Q

©© @c
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Which option represents the correct
order of the given words as they
world appear in the English
dictionary?

&9 91 fddey e Ty ¥ Ry v
Y] @ Gl 9 DI SUIT 27

(1) Reckless
(2) Realistic
(3) Reasoning
(4) Retaliatgry
(5) Research
(6) Retaliatipn
X(a) 2, 3,5,4,1, 6
(b) 2,3, 1,5, 4 sj
Ne12,3,1,5,6,4
3,5,6,4,1

°<(d) 2

b

iy

’ ’ ’ ?



What will come in place of question
mark (?) in the following series.
25, 27, 31, 67, ?, 265

RES  PrafeRaa siaer § wed e (2) & ©IH

UR T 37

¢ 25,27, 31, 67, ?, 265
(a) 115 (b) 135
(c) 210 (d) 195

Nokyhlhayic



What will come in place of question

q—- mark (?) in the following matrix.
e/ frferfaa amegg 4§ ueA fors (P) @ ®IH

m e
25 60 182

S 2= I5N4=122 20 25 12

40 75 >
19 =12 @40  ~ 1306
g \S | FX\R= 3.0 § (c) 75 (d) 230

j\fbk&ﬂ NI




A lady runs 24 km towards her
North, then 12 km her south and
then 5 km towards her East. In
which direction is she from her
starting point and find shortest
distance?

US HAfgcdl 3 SR @1 IR 24 fbe
A 8, v 12 5 <R 9 ar &k
fhe 5 fdlt gd o 3R st B | 98 =
RS fdg ¥ fow fem 4 8 iR =gaaw
0§ PIRG?

13 km, An angle less than 45°
(c) 13 km, an angle more than 45° south of east.
south of east. -
; 13 f&dl, gd @ <flor 9 45° | H9 P07
13 15, Ti ® 745 ¥ I ( 3 km, An angle less than 45°

13 km, A 1 han 45°
:::rtha of E;stn P S - north of east.

13 o, T ? SeR § 45°Q R | 13 f&dl, 9d & SR § 45° ¥ FH PI7|




What will come in place of question
mark (?) in the following series.
MIND, PUDS, EKPV, HFWK,?

frrferRad sf@en 4 ueA s (?) & ©IF

U 1 317
MIND, PUDS, EKPV, HFWK,?
(a) WMNR ) EGIK

Ve WMRN ) MIND

© ~T®



@ What will come in place of question
mark (?) in the following series?

J0 9Y 125 ]S "7 280 70,94, 125, 165, ?, 280
A A frferfed sfaen & we R (?) @ wI=
v 3 Yo Sh __6y W Tsm
A A 70, 94, 125, 165, ?, 280

39 | \a, o AAT216 (b) 206

(c) 196 (d) 200

@



There are seven friends I, J, K, L, M,
N and O sitting in a straight line
facing south. K is sitting immediate
left of L and second right of M. I and
J are not sitting together. Only two
persons in b/w O and K. O is fourth
left of L. N and L are not sitting
V% \/ together. J is in b/w K and M.
Which option is not correct?

9 @3 1, J, K, L, M, N 3R O gféio
LK I AR & PRb TP Wl X&T H §0 € |
K, L ® 8P q¢ AR M & TN TN
WM W) 93T 8| I 3R J T$ 9T 981 93
2] 0 3R K & Iv 9ad g aufts &1 O,
b) JMO LDPIUA AN W WRE NINL TP

9 I8 EIJ,KIRMD 9 § B
o iy B P9 a1 ey a8 81 27

NVILKINO




A, B, C, D, E, F and G are seven
friends having different heights A is
taller than C but shorter than B. C is
taller than F but shorter than A. B is

taller than A but shorter than 2
persons. D is taller than B. E is not
the taller and G is the shortest. How
many people are taller than C?

A, B, C,D E, F3dR G ua fam &
T eSS 33Tl T & A, C 9§ &dl
g oifé1 B 4 BIeT 8| C, F ¥ ddal &
dfdT A A BT 8| B, A 9 &dT & olfp
2 Y A BleT 8 . D, B9 @al 8| E
Hed 9T 8l © 3R G ¥ed Bier g
foa &fth ¢ & o &7

(a) S

(c) 3 (d) 1




(b)

Relationship between M@n, Smokers
and Cricketers.

TS uN R fheedi, @ 99 ey
ST N |



Town A is to the north-west of Town
B. Town D is to the north of Town C.
Town B is to the east of Town C.
Town M is to the North of Town B)
Town D is south east of Town A.
Town M is East of Town A. @hat is

the position of Town D with respect

to Town B? !

TS A, CS B © StR—uf¥ad ¥ 2|
SS9 D, €S9 C & SR ¥ & €6 B,
TRACH Y@ HL|CSTM, TS B D
STR ¥ 8| SS9 D, TS A & gféor 4
8| .CST M, ST AD Y H B
TS B @ ey # €rSH D & Refa @
g7

I/()'H-w (c) North

(b) East (d) South-East



Statement:-
HY—

S<P=U<T>Vz2X>W
Conclusion:-

(c) Only II

\,(-b]‘m true

(d) None of these



Select the option that is related to
the fifth number in the same way as
the second number is related to the
first number and the fourth number
is related to the third number.

99 APy &1 999 & ol uredl G 9
Ul YHR HeEferd & 99 S 6T Ugall
T 9§ GeRd © 3R IRl ww@r e

mmﬁl

LAMP _: - MOON : PPNO ::
MARS :? Bs
’ja) MBBT ‘as) BTNT

@ P BSNT (d) BSMT



Kiran shows an old photograph
Containing a boy to his son and
says, “ your mother’s brother’s
father’s brother has two children
one of them is married to a girl
called sita and the boy in this photo
is her son. “ How is the boy in the
photo related to Kiran’s son?

fRoT 3O 9 BT U QR TR el
g s e osar 8 iR @Edt §
TE W DS D AT & wg & Q@
9o § 99 9 Ud @I &l Hial e
AP W S © IR 39 TWER H Sl APl
8 98 99dI 91 B Biel H @ @

ASH fhRoT & 9¢ 9 DY Gaod a7

(a) Father in low (b) Son
(c) Father [d)Cousin



M, N, P, R, T, W, F and H are sitting
around a circle facing at the centre,
P is third to the left of M and second
to the right of T. N is second to the
right of P. R is second to the right of
W. Who is second to the right of M.
F is not an immediated neighbur of
P. Who is sitting opposite to H?

M, N, PR, T, W, FIRHUG IO &
ARI AR D5 B AR & HD 0 8, P,
M @ d3 3R O 3R T @ T8 3R
TERTEIN,PH TEARGET S| R, W
PR AT R_ARLI M SN
T WM R D9 2 Wl H & fqudd dor
g| F, P & Fecad ueId =18 &1 ?

(a) P (W

(c) F (d) N




The reflex angle between the hands
of a clock at 10 : 25 is?

10 : 25 R TP Tl @ G3dl & o9
gfcrad! S0y 1 87

o7 (b) 1572
2 2

) 1621 d) 1871
2 2

162-S



Direction: Select the set in which
the numbers are related in the same
way as are the numbers of the
following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the numbers
into its constituent digits.

E.g. 13- Operations on 13 such as /
adding / deleting /multiplying etc.
to 13 can be performed. Breaking
down 13 into 1 and 3 and then

performing mathematical operations
on 1 and 3 is NOT allowed)

SH W= BT 999 diforg forad |e&m
S PR Haftrg & o ver fAeEfafaa

el B & G B |



(e : FEmRl & Ay g &1 999 N |
G < IRl B 9D Yucd Dl 4
femfora fy famr, oof d@mei w®
<fspard fAemfed & Sl =ifRy | SemERe
‘13’ — 13 TR dHfhard o & 13 H
ST /9eMT /O A1 sdife 13 H
far ST HPHar 81 13 HT 1 3R 3 H
(U-2)* Rrefre @ ok R 1 3R 3 TR
Is-0) (4, 2, 8)

(15, 11, 64
@ @) (45, 40, 125)
(b) (29, 19, 729)

(c) (11, 7, 81)
(d) (17, 10, 1331)



Statements:-
1) The mobile phones of company X
~/Me very costly as compared to other
W mobile phones of the same quality.
2) The mobile phones of company X

mf[ have not been able to peletrate

much in the market.

DY~
) Statement 1 is the cause and ; f r
/iment 2 is its effect 1) X $ EI'T\F{ E‘\'-ﬂ E Il $
(b) Statement 2 is the cause and I A B I ol ¥ 9gd WG

Statement 1 is its effect ? |
(c)Both are effect of some common . '
cause Z)MXE\)'WWW#W

(d)Both are effect of independent T TE?T 9T v gl

cause



Statement:-

Research has proved that people
eating high fat diets coupled with
decreased level of exercise are pfne
to heart diseases.

Conclusions:-
\/lﬁeople should reduce their high fat
diet as a preventive method.

\/)ﬁple must have sufficient level
of exercise to rec@uce their chances
of having heart disease.
HYA—
My q wifed gom 2 & =M & o4
R @ 9RI 9= JERH ER @M drd
ANT DI &I IT B DT GavT sl o |
frrepy—



1) M & YIRS SU B wU H A
9o q9T 9Tl AR B HH HRAT Alfe] |
2) B T D FHGAT B H IRA D

forg o @ Wi W T A ST
1fay |
(a) Only I AT Both

(c) Only II (d) Neither



Eleven friends A, B, C, D, E, F, G, H,
I, J and K are sitting in the first row
of the stadium watching a football
match. H is to the immediate left of
D and third to the right of I. J is the
immediate neghbour of A and B and
third to the left of G. A is the second
to the right of E, who is at one of
the ends. F is sitting next to the
right of D and D is second to the

right of C. who is sitting in the
centre of the row?

YRE M9 A, B, C, D, E, F, G, H, 1, J

ASR 3R K RRw @ ugeh iR ¥ doav

BIA

Hedld Ad a9 e &l H, D @ 3% I

2

IRIT PRI TN YA RS J, A



3R B P Mdcad TSN & 3R G & T
AT 2 A ED S 9 TR R W
g, o ffl 76 BR W 8| F, D & 3TN
9l § 99T 8 3R D, C & TW W
WM R 8| Gth & g A DI 9071 87
(a) C (b) B

(c) G \/fl



Choose the related from given

a0 gy e o
09 19x¢ R Tt Rwedt § ¥ Wl 31 T B

59:104 ::87:7?

@ (a) 164 (b) 134
N?) (c) 146 \/@f 143



6 people A, B, C, D, E and F are
sitting around a triangular table
such that three of them are sitting
at the corner of the table and one
person is sitting on each side of the
table. All of them are facing inside
the table. F sits second to the left of
C. There is only one person sitting
betwwen F and A. A sits near to E. E
does not sit near to C. B sits second
to m—ﬁ sits at the corner
of the triangular table person at the
corner are?

6 <uRh A, B, C, D, E 3R F T By
A9 @ IRl 3R 359 YPR §c & b s
q dF A9 @ BF W) 93 & 3R VP ARh




U9 P YD TR 99T 2| 9 9t 39 B
X P AR GR@ 8| F, C B - T
WM TR 99T 8| F 3R A & 9 dad
Ue Afth 99T 8| A, E & fAde 9971 2|
E, C % ff%c 78l ST 8|1 B, E ® 9%
IR TR WM W a1 8| D, Py
U9 & P W 997 &, oy a9 B

H T B G ARD 87

(a) BEA Y4B) BED
(c) AFC (d) DEA



Which of the following numbers will
replace the question mark (?) in the

(¢ 61 2@ S [\ given series?
?’\LBQW Rrffes § § o @ we & T
13 Y 1) %G ¥ e fe () @1 wfrenfia

3,7, 13, 26, 69, 127, 275,?

% ?- ?)D lS 50 9\3 (a) 436 (b) 463
c) 464 d) 446
AT T A () "~ @

s (Rt) Mok Topbam



A man started walking towards
south. After walking 4 km, he
reached Point P. Then, he turns
right and walks 7 km to reach Point
Q. from Point Q, he turns left and
walks S5 km to reach Point R. Then,
he turns left, and walks 8 km to
reach Point S. from Point S, he turns
left and walks for 11 km to reach
the destination. Point S is in which

direction with respect to the
S

starting Point?
U JATHT SRIOT & AR AT Y DYl

gl 4 & 9em @ g, 8 g P W
Ugd | fR, 98 <Y gsar 7 3R fdg
Q W Ugd & forw 7 faft =eran 2| g




Q ¥, 98 91 gl B 3R fdg R W ugem
o fow 5 f&f 9o 81 R, 98 9

qedT 8, 3R 8 fdt gorar € fig s @@
Ugan @ forg fig s 9, a8 9 yoar
IR Mg 9@ Ugmm @ fog 11 el
qadl @, URMe fdg & ddy # g S
foer foam % 27

(a) North
(b) North-East

\/(prSouth-East
(d) South-West



Certain number of persons are
sitting in a linear row, all of them
are facing in the north direction.

q O "_' )_(\_f _ _B_ L_ Seven persons sit between O and J,
—— ] who sits second to the right of B.

5- Je == ==---0D Three persons sit between G and X.
Two persons sits between O and V.

The number of persons sitting to the

6| 0 _ _x right of B is same as the number of
persons sitting to the left of N. B

\/ sits fourth to the right of X. J sits

O - second from the right end of a row.

_NQ _L V ——_ N sits immediately to the left of R. L
i o m U AR\ | bsits forth to the right of N and
second to the left of V. find total

number of persons?



fAfaa e # =ftv te Ot ofts & 93
g, S W &1 §@ SR fum 9 &R 2|
OINRJIJPITIAT AR E B D
TR IR TN WU RIDBEIGIRXD
fmdmafF IS E103R VP QA
fth 98 &1 B @ TR 3R I3 ARpAT I
W& N @ 918 3R 83 Jfhal 9§
PIIH LI B, X P TR 9 A WM W
o1 81 J P URP & T BR ¥ ¢
WM W 93T 8|1 N, R & b 91§ 3R
WELNPTIEIRAAAIIRV B
1% 3R §EY WM W 997 8| ARhal
B G TG DIFTY?

(a) 20 (b) 22

(c) 24 (d) 26






